HAMMOND
MANUFACTURING Rack Mountable / Table Top Instrument

w (RM_U Series)

_ Products Iﬁl Technical ll Contact s llDthﬂrD@nnsl

Path: Home > Enclosure Index > Rack Mountable / Table Top Instrument

| |

click to enlarge click to enlarge click to enlarge

Key Features:

Strong construction yet light weight using all aluminum components

o Suitable for desk top or rack mountable applications.
o Shipped knocked down to avoid shipping damage
o Easy assembly & disassembly
¢ Strong construction using:
o extruded aluminum side panels 0.125" (3.2 mm) thick
o extruded aluminum front & rear panels 0.125" (3.2mm) thick
o flat aluminum top and bottom panels 0.064" (1.6 mm) thick
o Can be used with or without rack mounting brackets (included)
o Front & rear panel are interchangeable.
o Enclosure is finished in rugged, textured, black powder paint.
« Includes top, bottom, sides, feet, rack mount brackets and all assembly hardware
o Pull handles & rear bracket kit (deeper models) are not included with unit (see tables below).
o For a more traditional sheet metal, rack mountable enclosure - link here to our RMCS/RMCV enclosure series.
DUZJ&_LM
— Catalog pages (2) on this series
Adobe Reader .pdf format (318K)
19" Rack Mountable (Solid Top & Bottom)
3D
E AUtoCAD . Accepts .
Part Number — . l.dwg Files Solid Model | - Panel Units |\Width||Depth(Weight|| Pull Handle Rear Braket Kit
Reader] (zipped) |9 & .stp || Height part Number| Part Number
File PP files (zipped)
E 3D linches|| 16.6 | 8 | 354
RM1U1908SBK]| L= ZI8 1.75" (1V) (1ék ) 1427B2BK -
187K || 277K 211K |mm || 421 ” 203 | O Kg
E 3D linches| 166 || 13 | 54
RM1U1913SBK]|| L 218 1.75" (1U) 23k 1427B2BK -
188K | 309K 220K |mm ” 421 ” 330 |( 3 Kg)
E ) linches|| 16.6 | 18 | g
RM1U1918SBK]|| L= ZIP 1.75" (1U) 27k 1427B2BK [RM1U18BRKT]
133K || 339K 221K mm || 421 || 457 |(2.7 ka)
RM2U19085BK]| [% . 350" (2U)I'“Ch93” 166 ” 8 I 1op | 427ELBK .




| ok || a7k || euk | lmm || 421 || 203 J|2.1 kg)| |
RM2U19135BK]| |22 ! @ 3.50" (2U)|InChe5” 166 13 | 656 1427E1BK
| 138K || 340K 222K |mm ” 421 ” 330 |(3-0 kg)
E . ) linches|| 16.6 | 18 | 7 gu
RM2U1918SBK|[ L= pall 3.50" (2U) : 1427E1BK [RM2U18BRKT]
| 185K || 227K 223K |mm || 421 ” 457 |(3'5 kg)
] | Inches|| 16.6 | 8
RM3U1908SBK]| |22 . |§’_,‘;| 5.25" (3U)| nohes| 166 | 8 | o 1 1427P1BK
207K || 303K 210K |mm || 421 ” 203 |( 5kg)
_=_ ! 3D § |Inches|| 16.6 ” 13 | 7.94
RM3U1913SBK_2I§<_ 229K ZZZTK P20 (SU)|mm || 421 ” 330 |(3.6 kg) 1427P1BK
E . m linches|| 16.6 | 18 | g
RM3U1918SBK|[ L= Pl 5.25" (3U) 43K 1427P1BK [RM3U18BRKT]
195K || 224K 224K mm | 421 | 457 |(4-3k9)

19" Rack Mountable (Ventilated Top & Bottom)

ko] 3D
E AUtoCAD|| Accepts .
.|| Solid Model . . . : Rear Braket Kit
Part Number Reader'd"\_’g Files s & st Panel Height|Units |Width(|Depth(\Weight|| Pull Handle Part Numb
_ﬂe_ (zipped) fiIL%S(zip;e%) Part Number art Number
Ed Inches|| 16.6 | 8
RM1U1908VBK]| |2 .l ﬁl 1.75" (1U) Inches| 166 | 8 | 3.5 1427B2BK
| 402K || 305K 625K mm || 421 || 203 |(2-6 ko)
e .I 3D |Inches” 16.6 || 13 | 54
RM1U1913VBK]|| L= ZIP 1.75" (1V) 1427B2BK
_ﬂ(_ 313K 914K |mm ” 421 || 330 |(2'3 kg)
RM1U1918VBK| [0 .l |231[5| 175 vy el 166 18 o
75" (1V) 1427B2BK |[RM1U18BRKT]
| 493K || 382K 1,149K |mm ” 421 || 457 |(2'7 k)
RM2U1908VBK]| |2 .l ﬁl 3.50" (2U) inches| 166 | 8 | 4.1 1427E1BK
| 460K || 300K 627K mm | 421 | 203 [(2.1k9)
P— | h '
RM2U1913VBK| |2 !' ﬂ 3.50" (2U) Inches| 166 | 13 | 6.5 1427E1BK
_@(_ 374K 919K |mm ” 421 || 330 |(3'0 kg)
RM2U1918VBK E .l |§_,‘;| 3.50" inches| 166 ] 18 | 7.5
50" (2UV) 3.5 kg) 1427E1BK [RM2U18BRKT]
602K || 306K 1,140K mm || 421 || 457 |(3.5kg

Inches| 16.6 || 8 5.64
mm | 421 | 203 [(25k9)
|Inches” 16.6 || 13 | 7.0#
mm | 421 | 330 |36 k9)
|Inches” 16.6 || 18 | 9.5#
mm | 421 | 457 |(4-3k9)

[
5]
2|

RM3U1908VBK 5.25" (3U) 1427P1BK

N
w
©
A
w
@
RN
A
o
N
o
A

g
2]

RM3U1913VBK 5.25" (3V) 1427P1BK

a
a2
iy
A
Y
[*)]
1S9
=]
o s ||| 2 tavies
] [ =

RM3U1918VBK 5.25" (3V) 1427P1BK |[RM3U18BRKT

3]
©
=
~
N
©
o
Sy
=
=
w
©
~

Accessories

Tilt Bail:



click to enlarge

Used as a tilt bail and / or carrying handle

Requires drilling four mounting holes into the sides of the enclosure
Includes all mounting hardware, instructions & drilling template
12 detent positions

Extruded aluminum is black anodized and pre-cut to fit all of the above enclosures

click to enlarge

Side sections molded from tough black Polycarbonate - straight handle section is extruded aluminum

3D
@ AutoCAD||Solid Model
Part Number | ocader .dwg file || .stp & .iges
File || (zipped) files
(zipped)
E an
1427BAILKIT2|| |2z ZIP
330K 342K 664K
Replacement Hardware:
| Part Number | Description | Used For |

|RM6328C100BK ||100 pack of 6-32 x 3/8" self tapping screws”

Side panel assembly

|RI\/I44OSN 100BK || 100 pack of 4-40 speed nuts ” Top & bottom panel assembly |
|RI\/I44OI\/ISlOOBK || 100 pack of 4-40 machine screws ” Top & bottom panel assembly |
|RM1032MSlOOBK|| 100 pack of 10-32 machine screws HRack mounting bracket assembly|

DOWHLEAMD
-

— Catalog pages (2) on this series - Adobe Reader .pdf format (318K)

Exactly what you are looking for???

Link to our stocking distributors - most have "on-line" pricing, stock check and ordering!!!

Our Distributors
Order from your favorite distributor

Home | Products | Distributors | Technical | Contact Us | Other Options




Copyright; © 2008-2010 Hammond Mfg Co Inc
URL.: http://www.hammondmfg.com




